11. EVA Mathe - Klasse 7¢
Lésungen zum Aufgabenblatt fiir den 8.12.2004

S.23.Nr. 16
b) —{[6,25 - (3,48 + 7,5)] — 0,48 — (- 5,5 — 2,3)}
() =-{[625-10,98]-048—(-7,8)}=-{[-4,73]-0,48+7,38}

—{—-473+732}=-{-473+7,32}=-{+2,59}=—-2,59

(i) =—{[6,25-348-75]-048+55+23}
{6,25-348-75-048+55+23}=—6,25+348+7,5+0,48—-55—2,3
3,48 +7,5+0,48-6,25-55—23 = 11,46 — 14,05 = — 2,59
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~-{154+7,6-34-[-58+22+88]-154 +7425}
{15 +7,6-34+58-22-88-151 +7425}
~154-7,6+34-58+22+88+151-74,25

= —15%+37+4,05—74,25—7,6—5,8+2,4+15,2+88
=-12-70,2-13,4+17,6+88=-95,6+105,6 =10

e) 2%—{3,5—[8,5— 102+3-93 +132]—1§}
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{35 [8 (104+2-02 +13] 1}
{3’5_[83_2€+13%]_1€}:2§1—{351—[19%]—1%}
-{35-194-18=24-{35-21}=24-{-174}=24+17¢ =19}
{35-[84-103-3+94+133]-1]
{35 ~81+102+3- 91—132—1}
-3,5+84-105-3+921+13%+12

-3,5-3+81 —1o§+9§+13%=4—5+7+13§=19%3
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